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1. (2022'55*:)7(*%*&' **) a=log3%; b=10g2§, C:3ﬂ0']: I)—J,IJ d, ba Cﬁﬁjtfj\;’%%% (
(A) c>b>a (B) c>a>bh (C) a>c>bh (D) a>b>c

Z%X: B

fRHT: SRa<0, b<0, ¢>0, FFLlc &K,

a:logséz—logﬂ, AN 0<log,2<1, Fibh-1<a<0;

b:logZ%:—logz?n AN Nlog,3>1, Fibhb<-1, #ce>a>b.
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2. (2023 « £[EEM « hk) CHFla=37, b=23, c=log,5, MW C )

(A) a<b<c (B) c<a<b (C) b<c<a (D) a<c<b
ER: A

A

|
R AN0<32<3"=1, Fibho<a<l, AIN2° <23 <2, ATbL1<b<2,
A Nlog, 4<log,5<log,8, Tbl2<c<3, #a<b<ec.

3. (2022 « L « dok k) CHla=log,4, b=log.9, czg, e

(A) a<b<c (B) c<a<b (C) b<c<a (D) a<c<b
ZEE: D
R -

4

NA e = g =log, 3%, FTLAZEHHEL a Ml c IR/, R R 4 #0133 RV, AP EANT RN A2 7,

4 4 4
KN4 =64<(3%) =3*=81, Frkh4<33, Mﬁ'ﬁlog34-<1og333=g, Wa<c;

1§=10g5 53, FICAZELLE: b Fl ¢ BN, RS 9 FISS AN,

4 4 i
A9 =729>(5%) =5* =625, FrLL9>53, U\ﬁﬁlog59>log553=§, W b>c, frlha<ce<b.

4. (2022 « BEAE=FL « %k k) Ha'=2, 2°=6, 3*=8, MWa, b, cIKPERN C )
(A) a<c<b (B) c<a<b (C) a<b<c (D) b<a<c



E2HE: A

A

B, 1<a=3y2<2, b=log,6>2, l<c=log,8<2, FILLb &K,

Xc:log38>—log3(3ﬁ):%; Filla<c, #Ma<c<b.

5.

(2022 « B ST « deokk ) CHEIMEEREL £ (x) 7F (0, +0) LA KA, ¥ a= f(log, %), b= f(log,18) ,

c= 12", Ma, b, cWIRNRRZN C )

(A) a<b<c

ZZE: D

A

(B) b<a<c

(C) c<b<a (D) c<a<b

() HIBE I = a = f(log, %) ~ £(log, 5)

FTCVELLLES a, b, ¢ BIR/D, AR log,5, log,18, 2™ HIR/D,

B2 <2, 2<log,5<3, 2<log,18<3, FTLL2" Hw/h,

A

N 2.5=log, 2> =log,(4\2), T 5<4y2, FIibhlog,5<log,(4y/2)=2.5,

N 2.5=1log,3" = 10g3(9\/?_>) , H.18>9y3, FrLL log, 18> 10g3(9~\/§) =2.5, MIm log, 5<log,18,

i 2%° <log,5<log,18, FrLL £(2°%) < f(log,5) < f(log,18), M c<a<b.
(Kk*k) CHla=log,3, b=log,4, c=log,5, W% a, b, c FIK/NKFEAN € )

6.

(A) a<b<c

=5XE: B

A

(B) a>b>c

(C) b>a>c (D) b>c>a

3 \
a:10g23>—10g22\/§:§, b=10g34<10g33\/§=§, c:log45<log44\/1:§, FIrCA a #0K,

b—c=log,4—log, 5=

HNlg3lg5<(

lg3+1g5

2

)" =(

lg4 1g5 lg*4—1g3lg5 @

g3 lg4

Igl5,,
2

Ig3lg4

:lg2\fg<1g24, Firbl1g” 4-1g31g5> 0,



A5O[S b-c>0, FTlAb>c, WMa>b>c.



